RESOLVER Siguiendo el paso a paso y
realizar COMPROBACION

a)8x—6x=4 n)9x +5=32
X = X=

b)5x +4 =34 A)2(x-5)-12=6
X= X=

c)4x—-7=9 0)5(3x + 2) + 3(bx + 8) = 67
X= X=

d)5x—7 =38 p)5x+8—-x—-3=2x+17
X= X=

e)2(x+6)-7=9 g)3(x=1)+7=2(x+5)
X= X=

f)2x +9 =23 r)2x-1=17

X= X=

g)9x-5=4 S)8x+9—-2x-5=3x+22
X= X=

h)7x+4 =25 t)4(x—2)+10=3(x+6)
X= X=

i)3(5x—4) =78 u) 3(2x + 4)+3x-5 = 5(x +3)
X= X=

jAx+1=21 v)7x+13 -x=2x+29
X= X=

k)3x—6=0 x) 3(x +2)-4 +11x = 4(2x +5)
X= x=

1)4x—2 =30 y)4(x-3)-4=5.12
X= X=

m)7(2x + 1) +6(3x +4) =31 7) 1149x -4 - 5x=x+ 25
X=

x=
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